MEASUREMENT ASSIGNMENT-
USE YOUR CONVERSION CHART TO COMPLETE THE FOLLOWING

Part 1- Measurement

1) Use the table below to convert the following measures into the desired units then fill in the

blanks. (YL L (B = &15¢
A) 6 feet= inches B) Syards= inches 15¢12=
L6 :

R U ¥p.54

C) 12 miles = kilometers D) 34 inches = cm
54 )k

25¢ 5 5L _ " *Ll e \é
E)25°C = oF F) 4gallons=__>Z  pints 2

18 )( 0.
G) 38 litres = gallons H) 5000 mm = 5 meters

2) Mary’s personal trainer recommended she drink 3 quarts of water per day. Mary bought a
case of 250ml bottles of water. How many bottles should she drink each day to equal 2 quarts?

2 gade= Mpads = 22T Qe -_13.75m$l/ﬁo s I e

3) If you bought a 24 foot ladder, how many meters would it be?

Zity 0%08m= 7.3 m LEhs 03008

4) How many square feet is a house that measures 42 squared meters? £ o>
"‘\ l (’\'19 0” lm

5) Joe is 1.75 meters tall, How tall is Joe in feet? N N

6) Sally has a full 2 gallon jug of Windex. How many 1 pint bottles can she e

7) How many pounds are in 88ounces?.
8) Eric is 5' 7" tall. How many inches tall is Eric?
9) How many pounds are in 2.5 kilograms?

10) Water boils at 100 ° C. What temperature would this be in Fahrenheit?.

11) If the temperature is 74 ° F. What temperature would this be in Celsius?
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